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daga cilaylas
e (VF) Glaie¥) A S Al sae -
Aadia (YA) plaiel) dul S cladia dae -
el gine g8 ¢ lanial) A S Ciladian dae e g (ALY a8 5 e SU -
(s dola) JaaY) () -
Aa o (Vo) LloadU 40Kl da ) -
p Agling clagladll 038 § 8, el (5 558
ALY el L gm 85 ALY dadie g latia¥) Al S Aadie B o) g Ja ciladdell § 3
" Aila) 8o ad) U8 lam 4 S8 5 ey Jl el 18
(g JS (o Jadd Baa) g Aaly LilaY) plhall g ¢ ladU daa sie ALl )
RS ) e alasind aae 5 ecibe s )l & (a1 ala 5 ¢ AU B Y1 Calall A aadi
Aalical dalall Alls d s Alad daadd) Aal el 6 coaf el 4l WS elils) die
Go ASL elilal () 5 ¢ Leall 3 L5V e 82 gusal) s (3 LY JLSi ) Sy (5 A

.....

1l

8 (B) o (A) e wal Aa) Qi) A e dlils) sie
T g ¢ damie (e LAY Al oo dlida) aie

) e JS3 LS SIS Al AaY) e JIal el cld s jial Jik
Mia (C) Al AlaY) 1 s

MWia dagasal) 4lay)

®00®

Assaia LAY Gt dasia Ala) Cual 5 el cudd 5 e Als) Cual 13 Lo dlls A -
Lol LY ot Uad Al cual y dadlly cudd 5 ¢ dapmia s canl 1Y Lo dlls A5 -
; Ak gala
a5 ) ey (e SASH e Jallal) a3 )3 (daie (e JLEAY)) A g gl ALY A B
Al ) iad ¢ Ay S

Al AN 2235l e
Aadia HAT 80 ge 5 bl aadl) i) Jid clalid) Jsaa
The mean (Expectation) (W), The variance (O 2) , The standard deviation (O),
The coefficient of correlation (r) .
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1-  IfZis a standard normal variable such that : U slie Ui Vmize ~02 087 13
P(-a<Z <a)=0.79 ,thena=......... VA= (P2 e = P) ) sy
............. =Pob

@) 0.398 b 12 v @ o (D
© 127 @ 027 v () RS
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2-  From the data of the following table: i SW I 9l DLy oy
X 80 60 20 30 40 50 or | g | ¥ [ Y [N A | e
y | 75 [ 80 | 40 [ 50 | 60 | 70 Ve [T [or [ 6- [ A [ Vo | oo

Calculate Spearman’s rank correlation coefficient Oleperd 3 LIS Jolas o
between the values of X and Y and identify its type.

AP 39 2 ¢ o (e

CIA 7 (VG o)l - A=alyol) dulinl) A



LI 5901 - (A 3tlod W1 ASUIL) g liasm 31 Y2 VA/ YAV (oaal 5ot pLal) - Aolal) Ay 3L Aol 5ol ALED B3l lonial

CIA 7 (VG o)l - A=alyol) dulinl) A



LI A0 - (A 3otlad W1 ASUIL) Lo 3T~ Yo VA/ YAV (oaah 5ot ALl - Aolal) Ay 3L Aol 580 ALEDY B3l onial

3-  Find the mean and the standard deviation for the

following probability distribution:

o ol O1esYly awgidl sl

SV I g 5 50
Xr 1 2 3 4 ¢ ¥ ¥ \ A
1 3 3 1 SR B S R
- 2 2 - S
f(x) s s 3 3 A A A A )
5 A s
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4-  In the experiment for rolling a regular die once, the o0 Vh-.w 3p e eWld 23 B
probability of appearing the number 3 known that ub Ko ¥ suall 56l Sl cBaslg
the appearing numberis oddis ........ | 526555 ,allall sl

®

® ; +@ 10
© ; @

|
©

‘,
®
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5-  If x is a normal random variable whose mean (1) | Uiaub Gl i 13ite ~w 08 13
and its standard deviation ( 6 ), O &olral) 48 151y U adaugze
thenP(XSqul.Sc): .................. =(G\,°+M>V)JQ§

@) 04332 ® 0.0668 L @ ey (D
© 0.5668 @ 09332 e () e
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6- Answpr only one item from the items of this Y=o L, v= o L8y 30
questions :

fYx=3,Yy=12,Yx*=19,Yy*=94,
Yxy=4landn==6
Find : (first) The correlation coefficient between the

c‘\i:vuﬂz ¢ V4 =Yu~z
APCSINE S NPRUICe
PG (50 B8N S| (e e B

values of X and ¥ O st LUV Jalas st Yl
(second) The regression line equation Y on X 8 A8

o s 0o el Jas Bslas a ol 56
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7-  If the expectation of the following probability

distribution equals 2 , thenk=...........
X, 1 2 k
f(x) 0.1 0.8 0.1

S Iz a5 530 531 OIS 13)

l Y \ e
SV LAY ()
......... =3 06 ¥ ol
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8- A 42- student classroom has 28 study English, YA oo QU £y @yl )s S
21 study Italian and 7 study both languages. Oy YV o 3d oW sy

A student is randomly chosen , Calculate the Sl e sl gyt Ve YUY
probability that the student chosen studies: W] | gis il e (e LI

i) one language at least il I oy o It

i) English if He (She) is already studying Italian. et e sty ) ()
Lls 087130 & 5dos¥1 4800 (i)
Al

13 At aals
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9-  If X is a continuous random variable whose s Wpaze L,.\ gie e~ 0813
probability density function EUN APt
x—1
“ <y < v
is: f(x):{B 1 KEES PE e AR =() >
zero ,otherwise 3las Ld e | v
Find: () P(x <3) (i)P(2<x<3) (r >~ ) J (1) asmsle
(v >~ >v)J (i)
15 Wi 5
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10- 1 P(4)=07.P(B)=04.P(ANB) =02 then |, . (). v=(P)J o1y
L) i Y I oD S ob =D
2

® 3 ®
© 1 @

|
© ©
®
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11-  Ifall the points in a scatter diagram lie on a straight | JLas¥) s & bl o CRIgH]
line whose slope is positive ,then the correlation OB (g0 dlis (it b e -
coefficient between the two variables equals | .. Gl o el o LUV Jsles

@ 1 ® ; + @ Y0,
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12- Answer only one of the following items: T 5 p2EN G| (5 i
A) If X is a normal random variable whose mean p = Cads Golsis 15ze ~m O 13) ()
48 and its standard deviation ¢ = 8 and P (X > k)
= 0.1587 ,then find the value of k
B) If the weekly salary of the workers of a factory L oa
S . I PVWENES jb
follow a normal distribution whose mean = 75 P T I
pounds and its standard deviation = 10 pounds, J Sy oI =R (3
then find the percentage of the number of workers bl k"i_Jﬁ’ “’J:“‘ Cw\ b=
whose salaries liec between 60 and 85 pounds. SOl Sl Lér*" Vo daugie
%}Q\M\J@j\é cC)\.@:.Z? \.
vb)jgj Cj\J:S u:’.'d‘ Jlall suad

Solrall 8l >0l g EA = W alawgie
VoAV =(8 < ~m) J Q\fj/\:G

Léu’“ ey V»:
19 A s
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13- If A and B are two independent event such that : O e s - Sde o P OST I3
P(B)=0.6,P(ANB)=0.12, = (NI ¢ 1=(0) e
then P(A)=........... _()J ok

@ os ® 04 e © o (D)
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